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HTHT=T (3397 :

(i) T8 FT-F T G H AYE 8- F, @ KT

(i) 9T % gl ST @ forg sifAard &

(iii)  GIeTal &1 3T 97T @ 7R T H G HIF Uk YT 5A AT 5 |
(iv) 141 397 & T 97T & I TP & T W ferEw |

General Instructions :

(i) This question paper contains three parts A, B and C.

(it)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv)  All parts of the questions should be attempted at one place.

HTT <k
(TSR wHT qUT i o forg SEie)
PART A
(Accounting for Partnership Firms and Companies)

1.  TIIER S Ia7 H1 YIAE A & 99a 7 HAEedt dorg 09 8 | o 9 U
greier 8, 9 1 <l foh 309 =4aa™ &1 JereH S R 8, 319: 38 T 10,000
&1 ATTYe I e =nfge | = a8 97 ae <t AfeeRr 8 2 SR Fdmsu |
The partnership deed is silent on payment of salary to partners. Amita, a

partner, claimed that since she managed the business, she should get a
monthly salary of ¥ 10,000. Is she entitled for the salary ? Give reason.

2. TH A HEER gN @l % fou fifiem % w9 § yam i g ufy w5 T,
fore afifeafa o wd 1 geaent | &1 fopam Sram 2
Under what circumstance will the premium for goodwill paid by the
incoming partner not be recorded in the books of accounts ?

3. 39 9WR 1 T FA1ST S BH o GHII o THY S @A H A 9& hl IR
FEATANG Tal <l ST, Afehd ®H o U o T0F Ja 35T fasha foham Srar 3
A P G <l I e 7 |
Name the asset that is not transferred to the debit side of Realisation

account, but brings certain amount of cash against its disposal at the
time of dissolution of the firm.

67/1/1 2



4. 3 k1 GEATG foshl o = 19 B 2 1

What is meant by private placement of shares ?

5. M, R AT X TH BH H ARCR & S AT I HAM: 5: 4 : 3 h UG
fawfira e 9 | IR IS AR T 50,000, T 40,000 T T 30,000 off |
o TR T Hid W HBH 6l T 6,00,000 sl T hl T 1 THRISH I
TTSER o6 Yoil @Al § fohd 31aTa | fohal STQT ? 3g@ T | 1
P, Q and R were partners in a firm sharing profits in the ratio of

5 : 4 : 3 respectively. Their capitals were ¥ 50,000, ¥ 40,000 and
T 30,000 respectively. State the ratio in which the goodwill of the firm,

amounting to ¥ 6,00,000, will be adjusted in the capital accounts of the

remaining partners on the retirement of Q.

6. ol Afufm, 1956 1 AWM TH FATIAR AT & qF I RN W HEH g
fore G & =S 1 Tae foRa AT g 2 1

At what rate interest on calls-in-advance is paid by the company
according to Table A of Companies Act, 1956 ?

7. O 1w g g 2 1
What is meant by ‘Debenture’ ?

8. THh I 4 U=t & awi ¥ T 6,00,000 1 3Fa @9 ARdd foham 7 |
THEY @Al hl THA A R 10% 2 | a9 hl ol qearaal aem qars
T T AW T 22,00,000 A T 560,000 7 | ATy fafer & w6 6 wfa

% oA i AT I AfG ST 1 YoTeh A 6 2%@?%%&%
SO o et 3 | 3

A business earned average profits of ¥ 6,00,000 during the last few years.

The normal rate of profits in the similar type of business is 10%. The
total value of assets and liabilities of the business were ¥ 22,00,000 and
T 5,60,000 respectively. Calculate the value of goodwill of the firm by
super profit method if the goodwill is valued at 2% years’ purchase of

super profits.

67/1/1 3 P.T.O.
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gom fafiees 3 T 10 9% & 1,00,000, 6% FOGAT I T 2 Yfd FOMT *
HftRm o 1 31899, 2012 1 il fomn | fim Eien sifiga gen | =
H PAE T% foxia a9 o oFa H fohan Smom | a9 2012 — 13 &% foQ
AT st gfafsear Shifere |

Sargam Ltd. issued ¥ 1,00,000, 6% debentures of ¥ 10 each at a
premium ¥ 2 per debenture on 15t April, 2012. The issue was fully

subscribed. Interest will be paid at the end of each financial year. Pass

necessary journal entries for the year 2012 — 13.

Heron fafiee @1 e e R fmir g | s, s sifufem
TG 97 Tefl o AHTeRHT o J&707 o oo § 3Fca=d a8 | 1 310d, 2010
! HH J T 100 IIF & T 18,00,000, 8% FOGT 1 FiH fomam | eht
M 5% FifeEy o foran ST o | 31 7, 2013 i, Gyt OIS 1 e
fean e | I TR w1 Tl S @ 91g YguYT BT §, ofd: Ol 3§
Tt f=or & fore v T wenfuq fomam |

FOH] S e 6T TEvah UserHar ufeseat HITT g 36 qoa 6t ggam o
Hifu St ggwen fafiee g racdifeha fem mn | a8 wm form mm R 6
T & SO o e g @d ° 9" 99 8 |

Maharana Ltd’s main business is manufacturing of tyres. The company is

very particular about the observation of the provisions of the Companies
Act and SEBI guidelines. On 18t April, 2010 the company issued
T 18,00,000, 8% debentures of ¥ 100 each. The debentures were
redeemable at a premium of 5%. On 315t March, 2013, all the debentures
were redeemed. Since the manufacturing of tyres results in air pollution,
the company had installed a plant for its effective control.

Pass necessary journal entries for the redemption of debentures. Also
identify the value observed by Maharana Ltd. It is assumed that the
company has adequate balance in Debenture Redemption Reserve

Account.



11. T, T 991 U9 AR o St @i 1 A 4 : 2 : 1% g9 | fowfa
Hd 9 | 31 °, 2013 1 3R Fefa-faawor g o -

Terfa-feremor 31 7L, 2013

3 3

il
tC| 60,000 | T 14,000
T 40,000 | Thee 30,000
TS 30,000 | GTER 22,000
[SECE 30,000 | 9e 40,000
< fau 4,000 | G 53,000
A T 21,000 | A a7 26,000
1,85,000 1,85,000

Ik fafdr o T o o7 wew forn den fefaRaa & fore weafo g8

(1)  SFIfEl Q91 GAGTNET T HedTehd 39 JohR 83T : Thed T 24,000; SIGR
T 21,000; Y99 T 45,200; TIF T 50,000 AT TSR T 28,000 |

(i) T ! P T TR BT TAFTROT 3G F0T @I | foham S |

JHcATR @1 AT T M ISt @1 dIR hiT | 4
67/1/1 5 P.T.O.



Raman, Ratan and Rajan were partners sharing profits in the ratio of

4 : 2 : 1 respectively. Following was their Balance Sheet as at 315t March,
2013 :

Balance Sheet as at 315t March, 2013

Liabilities AmOURt | 4 sets Amount

Capitals :
Raman 60,000 | Cash 14,000
Ratan 40,000 | Stock 30,000
Rajan 30,000 | Debtors 22,000
Creditors 30,000 | Building 40,000
Bills Payable 4,000 | Plant 53,000
General Reserve 21,000 | Motor Van 26,000
1,85,000 1,85,000

12.

67/1/1

On the above date Raman retired and following were agreed :

1) The assets and liabilities were valued as : Stock ¥ 24,000,
Debtors ¥ 21,000, Building ¥ 45,200, Plant ¥ 50,000 and
Creditors ¥ 28,000.

(11) Amount due to Raman will be transferred to Raman’s loan
account.
Prepare Revaluation Account and Raman’s Capital Account.

% fdfiiee 4 @ fdafids #1 =9ad 31 =FaE™ T 1,50,000 1 G011 5631 fopan
et e T 10 &% % 10,000 FHAT M HI T 2 Hifem ufd dw W
fifia shteh dom 919 TR i Ushg H YTAM Hich ohAT TRAT | FEARMAT TH <AATT
ﬁﬂ'lj’@l‘l'{ Al TI'S;‘ :

T — T 40,000; M — T 40,000; TSR — T 30,000;

T — T 50,000; BTe — T 20,000; TER — T 20,000.
% TN 1 geaehl H ITYRH TG oh TOTT HTE9eh UeHTH=T Ffafsear i |
A Ltd. purchased a running business from B Ltd. for a sum of
T 1,50,000 payable by issue of 10,000 equity shares of ¥ 10 each at a
premium of ¥ 2 per share and balance in cash. The assets and liabilities
taken over were :

Plant — ¥ 40,000; Building — ¥ 40,000; Debtors — ¥ 30,000;

Stock — T 50,000; Furniture — ¥ 20,000; Creditors — T 20,000.

You are required to pass necessary journal entries for the above
transactions in the books of A Ltd.




13. (%) g qA7 HIgd Th HH H HHGR @ a7 hAM: 5 : 3 % TG H |
fawrforg wta 8 1 9 fiw B @ H 1/7 9 % fT |rEier % ®9 H gaw
HAA & | T A fI9TSH STIUTT 4 : 2 : 1 BN | ST QAT WiEgH b AN
ITIUTA <h! TUMT HIT |

(@) oIWeT QT HAAT T BH H AHGR & a7 ShAY: 4 : 1 G H AH
fafora =@ 8 | 329 fomen = e # 1/4 wm & foT Agier & w9 A
vou U, 8 fowen 3 qofa: stoen @ ww fom 8 | Areier o1 A
AT IS AT F7d I | 2+2=4

(a) Rohan and Mohan are partners in a firm sharing profits in the
ratio of 5 : 3 respectively. They admit Bhim as a partner for 1/7
share in the profit. The new profit sharing ratio will be 4 : 2 : 1.

Calculate the sacrificing ratio of Rohan and Mohan.

(b)  Amla and Kamla are partners in a firm sharing profits in the ratio
of 4 : 1 respectively. They admitted Bimla as a new partner for 1/4
share in the profits, which she acquired wholly from Amla.

Determine the new profit sharing ratio of the partners.

14. & fafee #1 9T T 10,00,000 1 3Tfespd St @ g3 S T 10 T&AH 6
gaar 79 4 fawse off | P 350,000 730 o A & foU stees mi=d
foFT | 48,000 =11 % fTC 3TTegA W gY | |t AreA1 TRT /0T & TS qAr IH
Bl TS shad 1,000 3790 bl DR, o w T 2 gfaq 3131 it s1faq I ufsr &
fieft | 37 |eft ofei il Seq R T T den W # T 9,000 W U YEd I
i s feam |

(i)  HEOT ATAFIE, 1956 i AR VI, HFT 13 ITTHR & s o &afd
foaor § ‘a9 St o1 foRd SRR g SIT@ ?

(i) 39YH & fau @rai & AeE ff TR fifl | 4

67/1/1 7 P.T.O.



15.

67/1/1

A Ltd. was registered with an authorised capital of ¥ 10,00,000 divided

into equity shares of ¥ 10 each. The company invited applications for the

issue of 50,000 shares. Applications for 48,000 shares were received. All
calls were made and were duly received except the final call of ¥ 2 per

share on 1,000 shares. All these shares were forfeited and later on
re-issued at ¥ 9,000 as fully paid.

) Show how ‘Share Capital’ will appear in the Balance Sheet of
A Ltd. as per Schedule VI, Part I of the Companies Act, 1956.

(i1))  Also prepare ‘Notes to Accounts’ for the same.

®, @ A T TH BH H FEER A | 1 T, 2012 I IThI S HA:
T 5,00,000; T 2,50,000 AT T 2,50,000 off | FEER ToR@ & IEUE! H
STIER -

() T T 5,000 Id ATE A9 ITH T (R AT |

(i) @ I 9fd 99 T 80,000 HHIIH IIH T AfREHR o7 |

(iii) ~ BTEERI Wl IS T 6% Aok ST T T AR T |

(iv) ®TgIeR ol w1 doft srgura & feenrfora 6 |

31 HT, 2013 ! THTE 8 dTal ¥ &1 g @9 T 3,00,000 o, Feept favmsH
39 TEEHI hl IH H W o FUe-se i fean m | ot St feoofi
! Tl fQEed gY, 3UY 6 foIQ e aHmEs yafse Hif |

A, B and C were partners in a firm. On 15t April, 2012 their capitals
stood as ¥ 5,00,000; ¥ 2,50,000 and < 2,50,000 respectively. As per
provisions of the partnership deed :

1) C was entitled for a salary of ¥ 5,000 per month.

(i1) A was entitled for a commission of ¥ 80,000 p.a.

(i1i) Partners were entitled to interest on capital @ 6% p.a
(iv)  Partners will share profits in the ratio of capitals.

Net profit for the year ended 31.03.2013 was ¥ 3,00,000 which was
distributed equally, without taking into consideration the above
provisions. Showing your workings clearly, pass necessary adjustment
entry for the above.



16. %, @ qU1 7T Tsh %4 § AR & S <1l Bl hAST: 5: 3 : 2% I9d & fowrioa
N B | 319m, 2013 i 31 fedfa-foawer f=fafaa o -

fearfa-fareror 31 @=L, 2013

3 3
TER 12,000 | kg 13,000
=y 10,000 | GTER 8,000
g Y 10,000
30,000 | #ef=R 30,000
20,000 | & 20,000
T 15,000 | 9e=cd 6,000
87,000 87,000

1 TR, 2013 i, AR % R @ H GF & 7T | B a1 @ o [SI1GhHT
He 98 Gl g7 foh @ 1 ¢ AU 1 ITAN Mg § Th WSS WA
T o T fopm ST | wWEd & STHER

(i) a1 oAk fUsal 9 aut o Ifted oW o g T o S
BN, S : 2009 § T 10,000; 2010 § T 13,000; 2011 H T 12,000;
2012 H T 15,000 99T 2013 § T 20,000 & |

(i) U< 1 oA T 8,000; AL ST T 28,000 AT W HT T 30,000
7o |

(iii) Hg o T % @ < e < A9 i AT, 99 2013 o AW o X T
Huil

(iv) ISt T 10% a1ieh &€ & = T s |

(v) @ {I5aTeeh] &l < TRT gF ©Td H TAETARG o f S |

(%) @ o fIoaTes ! TG A b foTT 3gept doft @ran d9r Hifse qen
(@) o # IR fohu MU foreft weh He 1 ggaH iU | 6

67/1/1 9 P.T.O.
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A, B and C are partners in a firm sharing profits in the ratio of 5 : 3 : 2

respectively. Their Balance Sheet as on 315" March, 2013 was as follows :

Balance Sheet as on 315t March, 2013

Liabilities Amount | - cets Amount
Creditors 12,000 | Cash 13,000
Reserves 10,000 | Debtors 8,000
Capitals : Stock 10,000
A 30,000 | Machinery 30,000

B 20,000 | Buildings 20,000

C 15,000 | Patents 6,000

87,000 87,000

On 1% October, 2013, due to illness B died. It was agreed between the
firm and B’s executors that the amount due to B will be used for
construction of a community hall in the village. As per the agreement :

(1)

(ii)

(ii1)

(iv)
(v)

Goodwill is to be valued at two years’ purchase of the average
profits of previous five years, which were : 2009 — ¥ 10,000;
2010 — < 13,000; 2011 — <% 12,000; 2012 — < 15,000 and
2013 — ¥ 20,000.

Patents were valued at ¥ 8,000; Machinery at ¥ 28,000 and
Buildings at ¥ 30,000.

B’s share of profit till the date of his death will be calculated on the
basis of profit of the year 2013.

Interest on capital will be provided at 10% p.a.

Amount due to B’s executors will be transferred to Charity
account.

(a) Prepare B’s capital account to be presented to his executor and

(b) Identify any one value being highlighted in the question.

10
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T 3 ST T BH W WHER I S HEHH M § =ANR KA I | 1 300,
2013 1 3781+ T I, S el H 984 =] T 7, HHGR § T AT |
T GHSAT H T 4 39T Teh F1Y @I {1 a1 Tewhl wa el 4 a8 i forn
6 3 T M T T H GR ¢ < | 31 °HE, 2013 I Tew IR el w1

feyrfq-foawor fremgam o -
Tt AR =fer ot fearfa-feawor 31 v, 2018 =6t
3 3
Tfee ot & fau e 40,000 | Uhg 1,00,000
i afagfd Ffa 56,000 | fafay a1er 8,00,000
3 =T 30,000 | € 2,00,000
R 3,00,000 | G 3,86,000
goft IEEIIERCIG] 40,000
Tl 5,00,000
el 6,00,000 | 11,00,000
15,26,000 15,26,000
T 1 FHEfad Al W wH H e o i
(i) T IO S o TR o 9 H T 4,00,000 AT, WAk 98 BN b
fore 18 oft Tfyr 23 4 srEmef o |

(i) T, ST am T o sfie = oy faueH U 302 180 |
(iii) HEERI Ffgfd &1 T 30,000 HT TET T |

(iv) T 40,000 i TRT ! gad kT o foiw feifad m o |

(v)  TERI I T 20,000 T 3k YA foRam T o1 |

(vi) 37T =3F W T 12,000 I AT 7 |

(vil) STICATRIG <FaT % fTT T 20,000 eF fopw 7T 2 |

(viii) ¥ h! EAT T oA T 1,80,000 R foham w1 7 |

QeI GTdT, HIEIGR ® Yol @Td q91 95 HH o1 TR fefd-foetor dan

Hifo | g & et T qou i TgEE HINT S AEER FHTS Sl gEivd

HET =R 9 |

HAAT

11

P.T.O.
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W 3R T T BH § T8GR o ST ATHI i ShAS: 2 @ 3 A9 | fawrfra
Hd A | d Jg B TS U qAT Ieh ATHE hl C@HTA i ATl His T8l oA |
3d: I8 FIU hl 9< hich 3Teh [dshd U UTH YUIRT sl Tsh TA.S(.3T. <hl
A H o w fofa fon | aw wShen. weh & | wgwe feEm % faw
FRIIU o Hd § e off | 31 S, 2014 w1 3R feufa-faewo Frafafaa
aq1 :

Tearfa-feremor 31 s, 2014

T T
TGN 65,000 | fF 1,20,000
29 oo 35,000 | WY 65,000
g - EEII 10,000
T 75,000 | T 25,000
| 75,000 | TTER 20,000
Thg 10,000
2,50,000 2,50,000

T A TSR 1 PTAE 15% 2 W fohan aen ww 3 ¢ fou=i &1 U g
fopa | wraferel @ el 39 TR BS : YW ¥ 20% HA; 7 | T 35,000;
g ¥ 25% Y AT ¢IQN & T 12,500 | FEeh = T 1,750 1 TAE 9
3 T |

el @, WEER! % Yt Wid q97 S @il AR hINT | ATEerl gan e
! grfva fopell T gou 1 Tga ot il |

12
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Alfa and Beta were partners in a firm. They were trading in artificial

limbs. On 15t April, 2013 they admitted Gama, a good friend of Beta into

the partnership. Gama lost his one hand in an accident and Alfa and

Beta decided to give one artificial hand free of cost to Gama. The Balance

Sheet of Alfa and Beta as at 315 March, 2013 was as follows :

Balance Sheet of Alfa and Beta as at 315t March, 2013

A t A t
Liabilities T | Assets e
Provision for Doubtful 40,000 | Cash 1,00,000
Debts
Workmen's 56,000 | Sundry Debtors 8,00,000
Compensation Fund ’ undary T
Outstanding Expenses 30,000 | Stock 2,00,000
Creditors 3,00,000 | Machinery 3,86,000
Capitals : Profit and Loss A/c 40,000
Alfa 5,00,000
Beta 6,00,000 | 11,00,000
15,26,000 15,26,000

Gama was admitted in the firm on the following terms :

(i)

unable to bring any amount for goodwill.

(ii)
3:2:1.

(ii1)

(iv)

(v)

13

To write off bad debts amounted to ¥ 40,000.

Creditors were paid ¥ 20,000 more.

Claim on account of workmen compensation was I 30,000.

Gama will bring in ¥ 4,00,000 as his share of capital, but he was

The new profit sharing ratio between Alfa, Beta and Gama will be

P.T.O.
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(vi)  Outstanding expenses be brought down to ¥ 12,000.
(vii) ¥ 20,000 be provided for an unforeseen liability.
(viii)) Goodwill of the firm was valued at ¥ 1,80,000.

Prepare Revaluation Account, Capital Accounts of Partners and the
opening Balance Sheet of the new firm. Also identify any one value which

the partners wanted to communicate to the society.
OR

Ram and Shyam were partners in a firm sharing profits in the ratio of
2 : 3 respectively. They become old and no one was there to look after
their business. Therefore, they decided to dissolve the business and
donate the amount available to an NGO who are providing service for
growing trees in urban areas to control pollution. On 315 January, 2014
their Balance Sheet was as follows :

Balance Sheet as on 315t January, 2014

Liabilities Am;unt Assets Am;unt
Creditors 65,000 | Land 1,20,000
Bills Payable 35,000 | Machinery 65,000
Capitals : Goodwill 10,000
Ram 75,000 | Stock 25,000
Shyam 75,000 | Debtors 20,000
Cash 10,000

2,50,000 2,50,000

Ram paid the creditors at a discount of 15% and Shyam paid Bills

Payable in full. Assets realised as follows : Land at 20% less; Machinery
at ¥ 35,000; Stock at 25% less and Debtors at ¥ 12,500. Expenses on

realisation ¥ 1,750 were paid by Shyam.

Prepare Realisation Account, Partners’ Capital Accounts and Bank
Account. Also identify any one value which the partners communicated to

the society.

14
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(%) € fafies 3 T 100 I & 1,000 370 1, Sept frmmm = 8 ufa =1
@ &g T Toman T o, Sed L T | 39 3 W T 30 Uid AW I gem
FreET RN ATH A8 g8 off 9o T 20 wid 31 i sfeaw e Ui Al
Hirf 781 TS off | 91G 39 ST Bl T 70 T I H W H T 80 Y& W
g fifea e oo e |
o Tt s gEdeni H I THeAl o ToTq STTeRdsh UsHTE= Jfafsear
IS |

(@) ta fdafies 3 T 20 99 & 470 9ar 3N 1, e foima = 3 fa
W o fiftem w e mn o, Sed o form | 39 oA W T 8 ufd e
i fraed Uiyt (T 3 fiftem wfzq) qen = 5 gfa otwr it vom I iy
T YT 6 A&l 83T | T 5 Ufd 31 <l HAlqH I i st A&l
A S off | ST § 235 % 1 T 19 Ul 3 o YAH W I Yed €9
ﬁ?:%ﬁ%Wl

ue foAfieg 6t gEashl § 3Wh THeH o foIu etavaes UsHm=n gfafseat
HITT | 4+4=8

HYAT

IR fAfids 3 T 100 I¥% % 10,000 THAT ;M H T 4 Ufd 3T & §g W
fifia &t o fote o1maeT smf=a fope | afyt fegam < oft .

ST W — T 20 Ufd 3

e W — T 30 Ui 37

Y| TF AT I=ET | — T 46 T A7
9,000 37T o T STTeIGA ITH U T Tt STTaIGehi ol T 1 e L fea
T | meft < Ul uTe g TE had 400 A HI Do g yum ud Af<m
IrEET R AR @ | T ST I Feqd L forn W | Hed fopu gu oo H 4,
300 37T I T 27,000 % YA W qUf Jed YH: it =t fezm m |
HT < JEdenl § 3TTawesh Usim=n gfafseat Sifs | 8

15 P.T.O.
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(a)

(b)

C Ltd. forfeited 1,000 shares of ¥ 100, each issued at a discount of
T 8 per share. On these shares the first call of ¥ 30 per share was
not received and final call of ¥ 20 per share was not made.
Subsequently these shares were reissued at ¥ 70 per share ¥ 80
paid up.

Pass necessary journal entries for the above transactions in the

books of C Ltd.

L Ltd. forfeited 470 equity shares of ¥ 20 each issues at a premium
of ¥ 3 per share for the non-payment of allotment money of ¥ 8
(including Premium < 3) and first call of ¥ 5 per share. Final call
of ¥ 5 per share was not made. Out of these 235 shares were
reissued at T 19 each fully paid.

Pass necessary journal entries for the above transactions in the

books of LL Litd.

OR

R Ltd. invited applications for issuing 10,000 equity shares of ¥ 100 each

at a discount of ¥ 4 per share. The amount was payable as follows :

On application — ¥ 20 per share
On allotment — ¥ 30 per share
On first and final call — ¥ 46 per share

Applications were received for 9,000 shares and allotment was made to

all the applicants. All amounts due were received except the first and

final call on 400 shares. These shares were forfeited. Out of the forfeited

shares, 300 shares were reissued at a payment of ¥ 27,000 fully paid up.

Pass necessary journal entries in the books of the company.

16
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CINRCH
(o<t ferawoi =t forveteroT)

PART B

(Financial Statements Analysis)

i faawn & favawe & el s 329 &1 3g@ #IRT | 1

State any one objective of analysis of financial statements.

“Uehg TaTE <Rl T AT § ? 1
What is meant by ‘Cash flow’ ?

U] Higd 913U foh Uehg T8 el G9R vid 99 Uk A0 o foshar <l
TR0 & T & fT T 50,000 % 9% s ifid s &1 a1 gfong g
— g &1 a8, digdig T his JaTg T8l ? 1

State with reason whether the issue of 9% debentures to a vendor for the
purchase of machinery of ¥ 50,000 will result in inflow, outflow or no

flow of cash while preparing Cash Flow Statement.

Hrot  srfufrem, 1956 W gfEnfad gReft VI 9 1% SER I %

feyfq-faawo # fr=fafea oe fora g sfids & st=afa guifs smarft 3
(G)  drdereid
(i)  SATIR gFaTd

(iii) o o fTU ITRISH
(iv)  Sfavfa Shifem a=
(v) UdeH

<

(vi) 3IuTfeid 3T

17 P.T.O.



State under which major headings the following items will be presented
in the Balance Sheet of a company as per revised Schedule VI Part I of
the Companies Act, 1956 :

) Long Term borrowings

(i)  Trade Payables

(1i1) Provision for tax

(iv)  Securities Premium Reserve
(v)  Patents

(vi)  Accrued Incomes

23. THfafed 9 T%a @9 U@ qol REfA S TEd AU ohl IO

ahr (F)
e ¥ A 30,00,000
T ¥ I AT 20,00,000
=], FedfeEt 6,00,000
e I 2,00,000
YT TR YSil 5,00,000

From the following calculate the ‘Gross Profit Ratio’ and ‘Working
Capital Turnover Ratio’ :

Amount (<)
Revenue from operations 30,00,000
Cost of Revenue from operations 20,00,000
Current Assets 6,00,000
Current Liabilities 2,00,000
Paid up share capital 5,00,000
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24. 31 W, 2012 AT 2013 I THE FT a6 < ARG AH-gH foawen @

IGRa T & MR W oS ATH-gTH forawor dum Hhife -

e

- . 31.03.2013 | 31.03.2012
e z -
e § I 40,00,000 | 32,00,000
FHAAT AT =T 20,00,000 | 16,00,000
I 4 2,00,000 | 4,00,000
L 40% 40%

Following information is extracted from the Statement of Profit and Loss

for the years ended 315 March, 2012 and 2013. Prepare a Comparative

Statement of Profit and Loss :

. Note | 31.03.2013 | 31.03.2012
Particulars
No. 3 <
Revenue from Operations 40,00,000 | 32,00,000
Employees’ Benefit Expenses 20,00,000 | 16,00,000
Other Expenses 2,00,000 4,00,000
Tax Rate 40% 40%

67/1/1 19
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25. Tfafaa feafa-faator o toe yarg faaor dam Hifse
e 31.3.2013 31.3.2012
feraon el 3 T
I — THAT 9T AT :
1. | svrar ffer
(37) 7= it 6,30,000 5,60,000
(9) @=@ @@ ATy 1 3,08,000 1,82,000
2. | =ITe] g ¢
ST SIdaTd 2.,80,000 1,82,000
HA 12,18,000 9,24,000
II - gttt :
1. | 31 uiErg T
T qiEr T
LS| 3,92,000 2,80,000
2. %ITFLWﬁ'HTQﬁ?ﬁ:
(37) &Y 98,000 1,40,000
(%) eamaTies wfet 6,30,000 4,20,000
(|) T qdn Uhg oo 98,000 84,000
HA 12,18,000 9,24,000
Wl o |
e = 1
- 31.3.2013 | 31.3.2012
T T
T TS AT
s (- Fre 5 8) 3,08,000 | 1,82,000
STaRE T :
(i) T QU e I, e gEde ged T 42,000 o1, T 56,000 B 9
fean ma
(i) a9 o SH TIAh i g8 Herdt T 28,000 ot |
67/1/1 20




Prepare a Cash Flow Statement from the following Balance Sheet :

Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Fund :
(a) Share Capital 6,30,000 5,60,000
(b) Reserves and Surplus 1 3,08,000 1,82,000
2. | Current Liabilities :
Trade Payables 2,80,000 1,82,000
Total 12,18,000 9,24,000
II - Assets :
1. | Non-Current Assets :
Fixed Assets :
Plant 3,92,000 2,80,000
2. | Current Assets :
(a) Inventories 98,000 1,40,000
(b) Trade Receivables 6,30,000 4,20,000
(¢) Cash and Cash Equivalents 98,000 84,000
Total 12,18,000 9,24,000
Notes to Accounts
Note No. 1
Particulars 31.3.2013 | 31.3.2012
3T <
gs:;z%:ﬁicseﬁp Sl1l:.lastement of Profit and Loss) 3,08,000 | 1,82,000

Additional Information :

(1)

67/1/1

(i1)

T 56,000.

21

An old machinery having book value of ¥ 42,000 was sold for

Depreciation provided on machinery during the year was ¥ 28,000.

P.T.O.
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PART C

(Computerised Accounting)

19. AT AGTh YAl o fohelt Weh 1Y o1 3@ hifST |

State any one advantage of Computerised Accounting System.

20. fogi < fafermt =t SifSe fSm@ sispt (Faft) Seaet <hl ST Fehell R |

Give any two ways in which a query can be created.

21. GTHETAH 1 8 ?

What is normalisation ?

22, AN TI@THT YUl o STTHIUAT (Tholfaiferd!) qen favaeiaar e 1
HHLATRT |

Explain Scalability and Reliability features of Computerised Accounting
System.

23. U FH hl TERIAT & HHehI I STTHHLT T aTel heHI 1 3G HINT |

State the steps to validate data with a formula.

24, IATHSI-IMYR (SREH) & ATALI o ®F H ARORT, Mhfqai, Afdeedi qe
T (I i THATSY |

Explain Tables, Forms, Reports and Macros as database objects.

67/1/1 22



25. (%) T3 & 39 R &1 AW FaRy adqn augnse Sed v ey i adaH
o 3T <h TUHT Y 1A B |

(@) Wfafgd ga1 9 toa TR T8 Rt Wd ohl 0T 8q g3 <l T0HT
Hifre
TS 9a4 T 20,000 Toh 15% hi G & qAT 36 HW 20% 1 @ H | 4+2=6

(a) Name and explain the function of spreadsheet which calculates the
Present Value returns of an investment.

(b)  Calculate the formula from the following information on Excel for
computing House Rent Allowance :

Basic Salary upto ¥ 20,000 at 15% and above it at 20%.
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Q. Set No. Marking Scheme 2013-14 Distributi

67 | 67 |67 Accountancy (055) (Compartment) on of

1 \/1 |1 Delhi—67/1/1 marks

/1 1/2 /3 Expected Answers / Value points

1 - 7 Q. The partnership deed ............ccoevrrreennnnnn. ? Give reasons. Yo+ Vo=
Ans. No, she is not entitled for salary. 1 mark
Reason: As the partnership deed is silent on the payment of salary.

2 - 5 Q. Under what .......cccoevviviiiniinnnninninnnnnnn account. 1 mark
Ans. When the incoming partner pays the amount of goodwill to the old partners privately
outside the business, no entry should be recorded.

3 - 6 Q. Name the.......ccccviviiiiiiiiiiiiininnnen, dissolution of the firm. 1 mark
Ans. Unrecorded assets.

4 1 2 Q. What is meant........cccceeeerrrenncceeeennnnnns placement of shares? 1 mark
Ans. In case of ‘Private Placement of shares’ shares are not offered to the public in general
through public issue but offered to a selected group of persons such as promoters, their friends,
shareholders of group companies, mutual funds, NRIs, Financials Institutions etc.

5 2 - [0 TR > 0 18 - P retirement of Q. 1 mark
Ans. Gaining Ratio i.e. 5:3

6 3 - Q. At What ....ccuiieeiireicreeicceeereeereeeerene Companies Act,1956? 1 mark
Ans. As per Table A, Company is required to pay interest on the amount of calls in advance
@6%p.a.

7 7 - Q. What iS cceeeeericciiiiireecceenccceseeeeeeecnnnnees Debenture? 1 mark
Ans. Debenture is a written instrument acknowledging a debt under the common seal of the
company.

8 - - Q. A BUSINESS....ccctveeeeececiiriinrreenerneenens super profits.
Ans. Average profits = X 6,00,000
Capital employed = ¥ 22,00,000 — % 5,60,000 = ¥ 16,40,000 1
Normal Profits = Capital Employed * 10 /100

=% 16,40,000 * 10/100 = ¥ 1,64,000
Super Profits = Average Profits — Normal Profits
=% 6,00,000 - X 1,64,000
=% 4,36,000 1




Goodwill = Super Profits * 2 % Years’ purchase

=4,36,000 * 5/2 =X 10,90,000 1
3 marks
9 - Q. Sargam Ltd. ....cccevveveiiiiiiiiiinnnnnnnnniennns year 2012-13.
Ans.
Books of Sargam Ltd.
Journal
Date Particulars LF Dr () cr(X)
2012 Bank A/c Dr. 1,20,000 A
April 1 To 6% Debenture application & 1,20,000
allotment A/c
(For 6% debentures issued and
subscribed by public)
April 1 6% Debenture application & allotment 1,20,000
A/c Dr. 1
To 6%debentures A/c 1,00,000
To Securities premium A/c 20,000
(For debentures allotted at premium)
2013 6% Debenture Interest A/c Dr. 6,000
March 31 To debenture holders A/c 6,000 72
(For interest due on debentures)
March 31 Statement of P/L Dr. 6,000
To Debentures Interest A/c 6,000 %
(For Interest transferred to statement
of P/L)
March 31 Debenture holders A/c Dr. 6,000
To Bank A/c 6,000 e
(For interest paid to debenture
holders)
NOTE: Full credit should be given for writing security premium account or security premium =
reserve account. 3 marks
10 | 10 Q. Maharana Ltd’s.......cccoeeriniiinninnnnnnnnnns Account.
Ans.
Books of Maharana Ltd.
Journal
Date Particulars LF Dr () cr (%)
2013 8% Debentures A/c Dr. 18,00,000
March 31 | Premium on redemption of Debentures 90,000
AJc Dr. 18,90,000 1
To Debenture holders’ A/c
(For redemption amount due to
debenture holder)
March31 | Debenture holders’ A/c Dr. 18,90,000
To Bank A/c 18,90,000 iz




(For redemption money paid to debenture

holders)
March 31 | Debenture redemption reserve A/c Dr. 9,00,000
To General reserve A/c 9,00,000 %
(For the amount of DRR transferred to
General reserve account)
Value observed by Maharana Ltd. (Any one)
e Concern for environment
e Empathy towards health of human beings
e Social Welfare 1
e Compliance of Law
(Or any other suitable value) 3 Marks
11 | - 11 | Q. Raman.......ueeecccerrrrireeennnnens Raman’s Capital Account.
Ans.
Dr. Revaluation A/c Cr.
Particulars Amount (%) Particulars Amount ()
To Stock A/c 6,000 | By Building A/c 5,200
To Debtors A/c 1,000 | By Creditors A/c 2,000
To Plant A/c 3,000 | By Partner’s Capital A/c 2%
Raman 1,600
Ratan 800
Rajan 400 2,800
10,000 10,000
Dr. Raman’s Capital A/c Cr.
Particulars Amount (%) Particulars Amount (%)
To Revaluation A/c 11,600 | By Balance b/d 60,000
1%
To Raman’s Loan A/c @0,400 By General Reserve A/c @12,000
(2 15+1%)
72,000 72,000 =4 Marks
12 (14 |13 | Q. ALtdccereeiieecrieicreencereeceeneeeennes books of A Itd.




A Ltd.

Journal
Date Particulars L.f. Dr. Cr.
Amt (%) Amt (%)
a) Plant A/c Dr. 40,000
Building A/c Dr. 40,000
Debtors A/c Dr. 30,000
Stock A/c Dr. 50,000 2
Furniture A/c Dr. 20,000
To Creditors A/c 20,000
To B Ltd 1,50,000
To Capital Reserve A/c 10,000
(For Business of B Ltd. Purchased at profit)
b) ()BLtd Dr. 1,20,000
To Equity Share Capital A/c 1,00,000
To securities premium reserve A/c 20,000
(For shares issued at premium in consideration) 2
(ii)B Ltd Dr. 30,000
To Cash A/c/ Bank A/c 30,000
(For balance paid in cash)
b) (Or)(combined entry)
B Ltd. Dr. 1,50,000
To Equity Share Capital A/c 1,00,000
To Security Premium Reserve A/c 20,000
To Cash/ Bank A/c 30,000
(For payment made and shares issued)
=4 Marks
13 |13 Q. (a) Rohan......cccceeveeeeeeennnnnnns to the partners.
Ans.
a) Sacrifice = Old share of profit — New share of profit
Rohan=5/8 —4/7 = (35-32) / 56 = 3/56 Y
Mohan =3/8—-2/7=(21-16) / 56 = 5/56 Y%
Sacrificing Ratio =3:5 1

b)

Amla’s new share = 4/5-%=(16-5)/20=11/20
Kamla’s new share = 1/5 * 4/4 = 4/20
Bimla’s share =% * 5/5 = 5/20

New Profit sharing ratio = 11:4:5 of Amla, Kamla and Bimla respectively.




14 | 12 | 14 | Q. ALtdcceeeeeiiiiiniinnennnnnnen for the same.
Ans.
Balance Sheet of A Ltd.
Asat ....cceeereiinennnes (As per revised schedule VI)
Particulars Note No. Amount Amount
Current year Previous year
EQUITY & LIABILITIES
I Shareholder’s funds : 1
a) Share Capital 1 4,80,000
Notes to Accounts :
Particulars T
(1) Share Capital
Authorised Capital :
1,00,000 equity shares of ¥ 10 each 10,00,000 1
Issued Capital
50,000 equity shares of ¥ 10 each 5,00,000 1
Subscribed & fully paid capital
48,000 shares of ¥ 10 each 4,80,000 1
(1x4)
4 Marks
15 - 16 | Q. ABand C.....ccerreerrrennrrennenennnns for the above.
Ans.
Table showing adjustments
Particulars A () B(X) C(X) Total (%)
Profits already distributed (Dr.) 1,00,000 1,00,000 1,00,000 3,00,000
Salary (Cr.) 60,000 60,000
Commission Cr.) 80,000 80,000 4
Interest on Capital (Cr.) 30,000 15,000 15,000 60,000
Profits (Cr) 50,000 25,000 25,000 1,00,000
Total (Cr.) 1,60,000 40,000 1,00,000 3,00,000
Net effect 60,000(Cr) | 60,000(Dr) - ---
Journal
Date Particulars LF Dr (%) cr (%)
B’s Capital A/c Dr. 60,000
To A’s Capital A/c 60,000 2
(For adjustment of omissions through
capital accounts of partners)
=6 Marks

Note: If the Examinee has presented the working in any other suitable manner, full credit

should be given.




16 | 16 | - Q. A,Band C.....ccceeeeeeiniinnnnnnnnnnssseenns in the question.
B’s Capital A/c
Particulars Amt (%) Particulars Amt (%)
To B’s Executors A/c @ { 38,400 | By Balance B/d 20,000
By Revaluation A/c 3,000 1
By Reserves A/c 3,000 %
Bu profit & loss suspense A/c 3,000 1
By A’s Capital A/c 6,000 }
By C’s Capital A/c 2,400 { 1
By Interest on Capital A/c 1,000 1
38,400 38,400
Value (Any one)
e Social Welfare / Community Welfare 1
e Development of infrastructure in rural areas. 5+1
(Or any other suitable value) =
6 marks
Working Notes:
B’s share in goodwill =X 28,000 * 3/10 = ¥ 8,400
B’s share in revaluation profit = ¥ 10,000 * 3/10 = X 3,000
B’s share of profit = ¥ 10,000 * 3/10 =< 3,000
Interest on Capital = ¥ 20,000 * 10/100 * 6/12 = ¥ 1,000
Note: No marks for Working Notes
17 | 18 | 17 | Q. Alfaand Beta.........ccceverrrrrrennnnnceeennns society.
Ans.
Revaluation A/c
Dr. Cr.
Particulars l T Particulars T
To Creditors A/c 1 20,000 | By Outstanding Expenses A/c 18,00 @
To unforeseen liabilities A/c 20,000 | By Partners’ Capital A/c 2
Alfa - 11,000
Beta - 11,000 22,00
40,000 40,000




Partners’ Capital A/c

Dr. Cr.
Particulars Alfa Beta Gama Particulars Alfa Beta Gama
X T T T s s
To Profit & 20,000 | 20,000 — | By Balance b/d | 5,00,000 | 6,00,000
Loss A/c
By Workmen
To Comp. Fund 13,000 13,000 -—-
Revaluation 11,000 11,000 - | Alc
A/c
By Bank A/c - --- | 4,00,000
To Balance 4,82,000 | 6,12,000 | 4,00,000
c/d By Gama’s - 30,000 -
Current A/c @ @ @
5,13,000 | 6,43,000 | 4,00,000 5,13,000 | 6,43,000 | 4,00,000
Sacrificing Ratio : Alfa =% - 3/6 = Nil
Beta=%-2/6=1/6
Balance Sheet of the Reconstituted firm
as at 1% April 2013
Liabilities Amount Assets Amount
) )
Liability of workmen’s Cash in Hand (4,00,000 + 1,80,000
compensation claim 30,000 | 1,00,000-3,20,000)
Outstanding Expenses 12,000 | Sundry Debtors 7,60,000
Unforeseen Liability 20,000 | Stock 2,00,000
Capital: Machinery 3,86,000
Alfa— 4,82,000 Gama’s Current A/c 30,000
Beta— 6,12,000
Gama —4,00,000 14,94,000
15,56,000 15,56,000

Value (Any One):

e Empathy towards handicapped people.

e Social Welfare

e Empathy towards financially weaker persons.

e Providing opportunities to specially abled persons.
(Or any other suitable value)

2%

2%

(242 %
+2% +1)
=8 Marks

17
OR

18
OR

17
OR

Q. Ram and Shyam..........ccccerrrrrrrrneenniceeenns

society.




Ans.

Realisation A/c

Particulars Amt (%) Particulars Amt (%)
To Land A/c 1,20,000 | By Creditors A/c 65,000
To Machinery A/c 65,000 | By Bills Payable A/c 35,000
To Goodwill A/c 10,000 | By Bank A/c
To Debtors A/c 20,000 Land — 96,000
To Stock A/c 25,000 Machinery — 35,000
To Ram’s Capital A/c (65,000 — 55,250 Stock - 18,750
9,750) (Creditors) Debtors— 12,500 1,62,250
To Shyam’s Capital A/c (B/P) 35,000 | By partners’ capital a/c
To Shyam’s Capital A/c 1,750 | Ram: 27,900
( Realisation Expense) Shyam : 41,850 69,750
3,32,000 3,32,000
Partners’ Capital A/c
Dr. Cr.
Particulars Ram Shyam Particulars Ram Shyam
T T T T
To Realisation A/c 27,900 41,850 | By Balance b/d 75,000 75,000
To Bank A/c 1,02,350 69,900 | By Realisation A/c 55,250 36,750
1,30,250 | 1,11,750 1,30,250 | 1,11,750
Bank A/c
Dr. Cr.
Particulars T Particulars T
To Cash A/c 10,000 | By Ram’s Capital A/c 1,02,35
To realisation A/c (assets) @ 1,62,250 | By Shyam’s Capital A/c 69,900 @
1,72,250 1,72,250

Value (Any One):

e Protection of environment by plantation of trees

e Community welfare
(Or any other suitable value)

= 8marks

18

17

18

books of L Ltd.




(a)

Books of C Ltd.
Journal
Date Particulars L| Dr.Amt (X) | Cr. Amt (%)
F
Share Capital A/c Dr. 80,000
To Discount on issue of shares A/c 8,000
To Share first call A/c / Calls in arrears A/c 30,000
To Share Forfeiture A/c / Forfeited shares A/c 42,000
(Being 1,000 shares forfeited for non
payment of first call)
Bank A/c Dr. 70,000
Discount on issue of shares A/c Dr. 8,000
Share forfeiture A/c /Forfeited shares A/c Dr. 2,000
To Share Capital A/c 80,000
(Being 1,000 shares reissued at a discount)
Share forfeiture A/c Dr. 40,000
To Capital reserve A/c 40,000
(Being balance in forfeited shares A/c
transferred to capital reserve A/c)
(b)
Books of L Ltd.
Journal
Date Particulars L| Dr. Amt (X) | Cr. Amt ()
F
Equity Share Capital A/c Dr. 7,050
Securities Premium Reserve A/c Dr. 1,410
To Share Allotment A/c 3,760
To Share first call A/c 2,350
To Share Forfeiture A/c/forfeited shares A/c 2,350
(Being 470 shares forfeited for non payment
of allotment & first call)
OR

Equity Share Capital A/c Dr. 7,050
Securities Premium Reserve A/c Dr. 1410
To Calls In Arrear A/c 6,110
To Share Forfeiture A/c/forfeited shares A/c 2,350

(Being 470 shares forfeited for non payment
of allotment & first call)

1%

1%




1 Bank A/c Dr. 4,465
Share forfeiture A/c Dr. 235 1%
To Equity Share Capital A/c 4,700
(Being 470 shares reissued at a discount)
Share forfeiture A/c Dr. 940
To Capital reserve A/c 940
(Being forfeiture balance transferred to capital 1
reserve) (4+4)
=8 Marks
18 | 17 | 18 | Q. RLtd. ceceererrreencrreeencerrreennecreennns of the company.
OR | OR | OR
Ans.
Books of R Ltd.
Journal
Date Particulars Dr.Amt | Cr. Amt (X
) )
Bank A/c Dr. 1,80,000
To Share Application A/c 1,80,000 %
(For application money received on 9,000
shares)
Share Application A/c Dr. 1,80,000
To Equity Share Capital A/c 1,80,000 Y
(For share allotment made)
Share Allotment A/c Dr. 2,70,000
Discount on issue of shares A/c Dr. 36,000
To Equity Share Capital A/c 3,06,000 1
(For allotment money made due on 9,000
shares)
Bank A/c Dr. 2,70,000
To Share Allotment A/c 2,70,000 1
(For allotment money received on 9,000 shares)
Share first and final call A/c Dr. 4,14,000
To Equity Share Capital A/c 4,14,000 1
(Being first and final call money due)
Bank A/c Dr. 3,95,600
To Share first and final call a/c 3,95,600
1

(For first & final call received except on 400
shares)
OR




Bank A/c Dr. 3,95,600
Calls in arrears A/c Dr. 18,400
To Share first and final call a/c 4,14,000
(For first & final call received except on 400
shares)
Equity Share Capital A/c Dr. 40,000
To Discount on issue of shares A/c 1,600
To Share first and final call /Calls in arrears A/c 18,400 1
To Share Forfeiture A/c/Forfeited shares A/c 20,000
(Being 400 shares forfeited)
Bank A/c Dr. 27,000
Discount on issue of shares A/c Dr. 1,200
Share forfeiture A/c/Forfeited shares A/c  Dr. 1,800 1
To Equity Share Capital A/c 30,000
(For shares reissued for X9 per share fully paid
up)
Share forfeiture A/c/Forfeited shares A/c  Dr. 13,200
To Capital reserve A/c 13,200 1
(For balance in forfeited shares account
transferred to capital reserve account)
=8 Marks
PART B
(Financial Statements Analysis)
19 - 20 | Q. State any one.......cceceerreninnnnns statements. 1 Mark
Ans. Objectives of Financial Statements Analysis (ANY ONE)
e To measure the earning capacity or profitability
e To measure the solvency
e To measure the financial strength
e To make comparative study with other firms
e To measure the capability of payment of interest and dividend
e To identify the trend of the business
e To judge the efficiency of the management
e To provide the useful information of the management
20 | 19 | - | Q. Whatis meant by ‘ Cash Flow’? 1 Mark
Ans. Cash flows implies movement of cash in and out of non cash items.
OR
Cash flow means the inflow and outflow of cash and cash equivalents.
21 | 21 | 19 | Q. Statewith .....cceceurcerieeniciriennneens flow statement. 1 Mark

Ans. No flow of cash

Reason: Debentures are issued to vendor for purchase of machinery so neither cash inflow nor

cash outflow takes place.




22 | 22 | 22 | Q. State under which .................ccc...... Companies Act, 1956.
Ans.
S.No. Items Major Headings
1 Long Term Borrowings Non current Liabilities
2 Trade Payables Current Liabilities
3 Provision for tax Current Liabilities
4 Securities Premium Reserve Shareholders’ Funds %x6
5 Patents Non Current Assets =
6 Accrued Incomes Current Assets 3 Marks
23 | 23 | 23 | Q. From the following .......cccceueeecciirrrreennneeee. ratio.
Ans.
(a) Gross Profit ratio = Gross Profit / Net revenue from operations * 100 %
Gross Profit = Revenue from Operations — Cost of revenue from operations
=30,00,000 - 20,00,000 = X 10,00,000 %
Net Revenue from operations = ¥ 30,00,000
Gross profit ratio = 10,00,000 / 30,00,000 * 100 = 33.3% 1
(b) Working capital turnover ratio = Net revenue from operations / Working Capital Y
Net revenue from operations = ¥ 30,00,000
Working Capital = Current Assets — Current Liabilities = 6,00,000-2,00,000
=% 4,00,000 %
Working capital turnover ratio = 30,00,000/4,00,000 = 7.5 times 1
=4 Marks
24 - - | From the following .................. Loss.
Ans.
COMPARATIVE STATEMENT OF PROFIT & LOSS
For the years ended 31* March, 2012 and 2013
Particulars Note | 2011-12 2012-13 | Absolute | Change
No. () (%) change In %age
Revenue from Operations 32,00,000 | 40,00,000 8,00,000 25 %
Less: Expenses
Employees’ benefit expenses 16,00,000 | 20,00,000 4,00,000 25 Y
Other Expenses 4,00,000 2,00,000 | (2,00,000) (50) %
Total Expenses 20,00,000 | 22,00,000 | 2,00,000 10 %
Profit before Tax 12,00,000 | 18,00,000 6,00,000 50 7
Less: Tax @ 40% 4,80,000 | 7,20,000 | 2,40,000 50 %
Profit after tax 7,20,000 | 10,80,000 | 3,60,000 50 1
4 Marks
25 | 25 | 25 | Q. Prepare a Cash flow Statement ............... was < 28,000.

Ans.




Cash flow statement
For the year ended 31* March 2013 as per AS-3 (Revised)

Particulars Details (%) Amount (%)

A)Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items 1,26,000
Add: Depreciation on machinery 28,000
Less: Profit on sale of machinery (14,000)
Operating_ profit before working capital changes 1,40,000
Add: Increase in trade payables 98,000
Decrease in inventories 42,000
Less: Increase in trade receivables (2,10,000)
Cash generated from Operating Activities 70,000 2%
B)Cash flows from Investing Activities :
Purchase of machinery (1,82,000)
Sale of machinery 56,000
Cash used in investing activities (1,26,000) 1%
C)Cash flows from Financing Activities:
Issue of share capital 70,000
Cash from financing activities 70,000 1
Net increase in cash & cash equivalents(A+B+C) 14,000
Add: Opening balance of cash & cash equivalents: 84,000 1

Closing Balance of cash & cash equivalents: 98,000

Working Notes: =6 marks
Dr Machinery A/c Cr
Particulars Amt (%) Particulars Amt (%)
To Balance b/d 2,80,000 | By Depreciation A/c 28,000
To Profit & Loss A/c (Profit) 14,000 | By Bank A/c 56,000
To Bank A/c (Purchase) 1,82,000 | By Balance C/d 3,92,000
4,76,000 4,76,000
PART C
(Computerized Accounting)
Q. State.......coerreeeenennns System. 1 mark

Ans. Any One of the following advantages:
e Timely generation of reports and information in desired format.
e Efficient record keeping.
e Ensures effective control over the system.
e Economy in the processing of accounting data.
e Confidentiality of data is maintained.

Q. Give any.......cceeeeeeeeee. can be created.
Ans. Query can be created in the following ways: (Any 2)




e Design View

Yot %

e Wizard =1 mark
e SQL View
21 | 19 | 20 | Q. What......covviiriiiiiiiiiiniinnnnns normalisation? 1 mark
Ans. Normalisation is the process for removing data redundancy.
22 | 22 | 22 | Q. EXplain....ccceiiiiiinennniiiiinnnienn system.
Ans. Scalability: CAs enable in changing the volume of data processing in tune with the change 1%
in the size of the business. The software can be used for any size of the business and type of the
organisation.
Reliability: CAs make sure that the generalised critical financial information is accurate, 1%
controlled and secured. =3 marks
23 | 24 | 23 | Q. State...ceeereenrnnnennnennnenneeennnennn formula. 4 marks
Ans. To validate data based on formula following are the steps:
In the Allow drop down menu, select Custom.
In the formula box, enter a formula that calculates a logical value. If the formula
calculates true entry will be valid otherwise invalid.
3. We can also prevent duplicate entries by checking duplicate entry.
4. We can limit the sum value for a range which will cause error if sum of the values
exceeds the given total.
5. We can prevent user from adding spaces before or after the text in entry. The TRIM
function removes spaces before and after text.
6. By activating or selecting WEEKDAY function, the entry of dates that falls on weekend
can also be prevented.
24 | 23 | 24 | Q. EXplain....cccereeeeeeencciceeeeeeeeeeenee. objects. (1*4)
Ans. =4 marks
e Tables: The object which is used to hold data/raw data in a data base.
e Forms: This object class provides information about the application, manipulates data in
a table.
e Reports: This object class is used to show the results generated in report form based on
tables, queries or both.
e Macros: A macro is a list of macro oriented actions that run as a unit, so they help us to
automate and speed up the work.
25 | _ _ | Q. Name....cccoeiirireiiiiireiccinraees 20%
Ans.
(a) Name of the function — PV 1 mark
Syntax of formula(Rate, nper,pmt,fv,type)
Where,
Rate: interest rate per period. 3 marks
Nper: Total number of payment periods in an annuity
Pmt: Payment made each period and cannot be changed over the life of the annuity
Fv: Future value or cash payment to be attained after last payment.
Type: No. 0 to 1 and indicates when payment is due.
(b) B2 =1IF (A2>20,000, 0.2*A2, 0.15*A2) 2 marks

=6 marks
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